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1.Answer- (A)

HITS e H TYTH TAT — TV B | B
g H B A TS € | B U WS 8
fSTH 30 g Siied ¥ B 2§
ST 2 |

2.Answer- (A)

ST AT TT ¥ 3P =l H HAd? 99
gU Y A1fF U DI T Hed © &I AT af
H AT® Tl | el 99 Y b 4
T4 ARfE I P AAN HEA ¢ |
3.Answer- (D)

FHfa ees &1 9 fdwse aq + Afa
BT |

4.Answer- (B)

9 Y B 99 BT I o1 + 3 = 37
WIYDHR § e BT JbR — o7 Hfe)
5.Answer- (D)

G I ® BT IR 919 ST B
2 g awgan, gl e a1 gfoa afke
B TGP AT 9D Hag H [IIRBRSD AT
STDh A H GABLHPH Sd— sl

el goT AT_TSAI 8l 4T 3% Toh gite |

FRAL B gAY gl H dMT R @ fely
O 3R ST Bl Sl STTIZD S ¢ |
6.Answer-(B)

ST Fee § gedife A © |
sfrafse o AN faRrg gRm o
I WA 459 | S9H BEE 482 @
A f wT SR fHAT 32T 7 | e
3 TR wARTE B

7.Answer- (A)

ST BT A1 =AY I8l IR dR$ o
TS ¥ gAY T Teey HNT 2 |
8.Answer- (C)

GATT—Ure & 3N AT TR —agdle
NTHTY |

9.Answer- (C)

YR AHE W] 919 354 Bl g
I & ®U | RO BT © | BIROT T
HTd IR BT H BT &1 35 9§ |
10.Answer- (A)

e X9 1 W Io[eT AT YoM
2| aRRUMT & Ry | @1 # 39 34

D1 TN 83T & | Iga—3 AT 59 Hgad
B IHA & AT & | R Y SfraT #
SIIGET ST gUIT Sd=~1 R+ aTell
aRReIfrn vd 9%qq &F 781 & | §9 BRI
@ FANT 9 U B Sl § 99 dcd <
I~ BT T |

11.Answer- (D)

B H 99 e Uit d s axg an
gl BT Ioeld 8l IT IH g IR old
3R B T BT AT I ST Bl
3G <9 HBd T |

9 BIg aRA [T U T a1 @fh ar
q&] ¥ wF® BIAT B, ST UT R I
foeTa &1 91y BT © 4 89 9Ha o
TRE & Mg AT ¥Id BT GAR Id4T § Il
&, 9%, e bl ey X Hed ¢ |
12.Answer-(C)

3l6q 1 TiIA IRHAT & — STfFFEN, efor 3iR
oIl 76 i JPR & Bid & — dad,

8D SR ASTh dAT g HA: U UBR
LD R Yee B0 & — arened, weef qen
U et | g9 I srert @ udifge T g

D FRRAT — AT, F&IOI IR ST §IRT

Bl B |

130ARsWer-(A)

IRAT 9Tal @B G 9 BT 2 |

14 Answer=«(B)

eI HETad DI DI Tellell | 81T Bl
BT 8 I8 HE FIeT B4 S ANl o 9]
g1 e foram 2| 59 $81ad AT AThIh Bl
31f B fb MU S U7 BH BN IMYD
SABT Tl AT I ST SR T_T FART
TAd BTH TT € BT 3R 2 |

15.Answer- (D)

TEIAR— ¢ & IM 9 TS T8l A¢ I,
aref— Arafq AeEr @ 98 & A8 B
Jag— o1 i e SUael $HRarg
faemeff & aract s P arvem B oA g,
g© DIy G Iqg & O | TG A8l
AQ I |

16.Answer- (C)
fadell & gax U
17.Answer-(B)
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3T &H

18.Answer-(C)

fosdt wreT @1 579 saf= Fadl @ "eIH |
forar Siar g, S sa—dddi Bl S AW
o fafd wed g | g fafter e
el forfd & g o ugdl [w forfd o
Hfed faft ok o 10 41 i) 4
S fafis wu # el g8 |
19.Answer- (A)

dleed & 41 &oid 8 & o
IR | SI¥ & fU8el 9NT &I drel |
oY o gedr 2 | RS wepd § 9 o
& AT 3R s At @ o P
T8 oo | T H 3T R B v
SIfe gul wU 9 a8 § |
20.Answer- (D)

ARge 3reg 7T 3fUS AvRge o foram
T 7, [T 312l § Bl & IR
R Rafdet faRIs a8 98 kb & Sil
fafae a1 frfimer AHaidT g éaﬁ'\f
ol <ar 2.

21.Answer- (D)

22.Answer= (D)

Jrfe—are

23.Answer- (B)

el § 924 I UBR B B & Yhddd
3R 9gaa |

24.Answer- (B)

S8l GfeT g & ¥hd H Q8! bl YD
fofi o <@r T 2|

25.Answer- (C)

H R P Th TSI 1|

English 26-50

26.Answer: Option D

Definite article 'the' is used as an adverb
before comparative degree. 'Higher' and
‘Colder' are comparative degrees.
27.Answer: Option A

Here, 'dress' is a general class and therefore
indefinite article will be used. Word after
the blank starts without vowel sound. ‘A’
article will be used.

28.Answer: Option C

Here 'President’ is a specific title and
therefore 'the’ article will be used.
29.Answer: Option B

30.Answer: Option C

31.Answer: Option A

32.Answer: Option A

The militants have kidnapped many
children.

Given sentence is in present perfect tense
and it is in passive voice.

Rule :

Subject + (has/have) + V2 + Other agents
33.Answer: Option D

The beggar was laughed at by the boy.
Given sentence is in simple past tense and
it is in active voice, we need to change it
into passive voice.

Rule :

Subject + (was / were) + VV° + Optional
Agents.

34.Answer: Option A

Wise men will be blessed by our

| Almighty.
““The given sentence contains one'of Model

verb (Model Verb =.will, shall, can, may,
might, couldgmight, must, would). It is
IN active voice.

Rule :

Subject + Model verb + be + \/° + Optional
Objects.

35.Answer: Option D

One word substitute is Granary.

Hangar: a large building with an extensive
floor area, typically for housing aircraft.
Dockyard: an area with docks and
equipment for repairing and maintaining
ships.

Store: a place where things are kept for
future use or sale.

Granary: a storehouse for threshed grain.
36.Answer: Option A

One word substitute is Outriders.
Outriders: a person in a motor vehicle or
on horseback who goes in front of or
beside a vehicle as an escort or guard.
Servants: a person who performs duties
for others, especially a person employed in
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at?oudse (t)n domestic duties or as a personal MATHS 51 — 75

attendant.

Commandos: a soldier specially trained 5;?}:&55;?)211“ o lemtiom,
for carrying out raids. _ It only signifies the expression AZ B2
Attendants: a person employed to provide Se. a2

a service to the public in a particular place.
37.Answer: Option B

6*(22 + 47)
6=(4 + 16)

threw cold water over: To discourage or o e
deter someone from doing something. 36 + 400
38.Answer: Option C =436

goes to dogs: to become much worse in 52.ANSWER: 4

quality or character. A . \

39.An_swer. Optlon B While simplifying always follow rules of VBODMAS
I(e)rjat\atlve Obti c Order of simplification will be
Answer: Option V — Vinculum bracket
Surveillance B — Brackets - Go from inner bracket to outer
41.Answer: Option C bracket
his office received an important letter g‘ ;‘;_" operation
. B — LIvision
42.Answer: Option C M _ Multinlication
are not laid deep_ : A - Addition
43.Answer: Option C 3 ‘- Q Subtraction /
informing g
44.Answer: Option B Here, first we'll solve brackets
The man who can work very hard when he “f* . (40.25 =5)+ (0.07x5) _8.05+0.35

must work is generally the oneswho can (015x8)+(018+02)  1.2+009

play most heartily when he has the chance , =%

of playing. : =4
45.Answer: Option A +| 53 ANSWER: 0.33

The passengers were very happy by thes= Let,a = 0.72 and b= 0.39

friendly and warm treatment given to them: R
46.Answer: Option B So the expression can be written as — -
He is the friend whom I trust most. F+abth
47.Answer: Option C Tip:

No sooner did he go in than he came out. Standard Formula -

48.Answer: Option D

She never visitg any zoo because she is at-b¥=(a-b)(@+ab+t?)

strong opponent of the idea of holding the

ZBIE?]LSV\IIQ r(?agt‘;\é;gqur our Joy. ». The expression can be written as C ;]-Eaj;jz: hzj— a-h
She said, "What a miserable plight it is."” »a-b=072-039=10.33

50.Answer: Option D 54 ANSWER: 11

It was unanimously resolved that the
parties should unitedly

undertake launching of popular
programmes.
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The given number can be written as follows 58.ANSWER: (b)
450 452 483 + 455+ 485 = 4014 41+ 42 + 45 + 4F) If one pipe fills the tank in 'x' hrs, another pipe
= 461(14 4 + 16 4 64 + 256) = 461(341) fills the same tank in'y" hrs but the third pipe

. empties the tank in 'z' hrs and all of them are
Now check options,

341 is not divisible by 3 opened together, then
341 is not divisible by 5 _ _ 1 1 1
The net part filled in thr=—+ — —-—
341 is divisible by 11 Xy oz
55.ANSWER: 4/(- b?) From the given data, net part filled in 1 hour =
b2 1/6 + 1/8 -1/12 = 5/24
a+—=2 So, total time to fill the tank with all pipes
a
~al+bi=2a3 open = 24/5 hrs
1 - =-
‘;ﬂs‘" “bstf;’t 1’; S ’ t 59.ANSWER: 72, 84, 108
SUDStITuLn £5e Vallles 11 the SIVern proolemnl, we ge
g - Svenp : Let the common factor be K
o +2a+b la+la 4
" a3 2al  afal-2a) - bl K 2K 3K
o S0 the three numbersare—, —, —
56.ANSWER: (c) 234
Assume original salaries of Ram and Sham as | Also, we know that, greatest - smallest = 36
4x and 5x respectively. - ﬂ E_
Therefore, | R
(4x +5000) 50 | T iK=144
(5% +5000) 60 ' (i K 144
60 (4x + 5000) = 50 (5x + 5000)L The numbersare — = —=172
10 x = 50,000 7 - 2 2
5x = 25, 000 2K 2x144 IK  3Ix144
Sham's present salary = 5x + 5000 = 25,000 _ = =, —= =
+5000 ' 3 3 4 4
Sham's present salary = Rs. 30,000 60.ANSWER: 720 cm?
57.ANSWER: (d)
Assume that the reservoir is filled by first pipe in Height ﬁ H 72 sq.cm
X" hours. (H) cm. L _
So, the reservoir is filled by second pipe in 'x + | 120 sq.cm. P ereadth
20" hours. - Length (L) "~ (B)
NOW, from these above COﬂdItIOI’]S, we can fOI’m Facesof cubes are rectangles.

~ Face 1 area = Length x Breadth =1lxb = 120

the equat|0ns as, Face 2 area = Length x Height =1xh =72

1/x + 1/ (x + 20) = 1/24 Face3 area — Height x Breadth — h xb = 60
0+ 20 + ] 3l + 20) = 1124 e

X?—28x—-480=0 ~h2x 120 = 72 x 60

By solving this quadratic equation , we get the = h=6cm

factors (x — 40) (x+12) =0 Tip:

Hence, we get two values : X = 40 & X = -6 e e eignt

Since filling of reservoir is positive work , we
can neglect the negative value of 'x'.

Thus, x =40 61.ANSWER: 640
This means that the second pipe will take (x+
20) hrs =40 + 20 = 60 hrs to fill the reservoir.

= Volume=Ibh=120x 6 = 720 cm?3
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Coinisacylinderwithvery smallheight and larger radius,

Here, since cylinder is made from melting coins Cylinder
volume of cylinder will be same as volume of all the =3m
melted coins, e
Tip:
Volume of cylinder = mr?h Bem
r-Radius and h - Height
. Volumeof coins = Volume of cylinder
. Volumeof 1 coinx Number of coins = Volume of
cylinder —
Té(ﬂ,'?s)! ;ﬂf x Coins =3x8 ﬂm
~ Coins=
— T
Coin A

62.ANSWER: 455

Tip:
If A and B are two numbers,
AxB=HCFofAand Bx LCM of Aand B

~

~ Number = 455

63.ANSWER: 2
The solution might look difficult but it very easy to understand and solve
Just observe the image carefully

Highest Common Factor (HCF) is 13, that means
the numbers are multiples of 13.

We need sum of numbers to be 156.

In such sums, first write multiples of 13 till 156

Sum =156 Sum = 156
2 l”

HCF=13 HCF =52
13 26 39 52 6578 91 164 117 130 142 156

* A N A A 1\ *
Sum = 156
. HCF=13
Sum =156 Sum =156 Sum = 156
HCF = 26 HCF=78 HCF =39

Thus, there are two such pairs, (13, 142) and (65,91)

64.ANSWER: 1/100

1
(0.000001)= = 5/0.000001

If a cube has & decimals, then its cube
root will have 63 — 2 dedcdmals

~3% 0. 000001 = 0.01

65.ANSWER: Rs. 945

thours per day for a week means 6 x 7 = 42 hours.
8workers for 42 hours get Rs. 630
. 8 workers for 1 hour get 630/42 =Rs. 15

15
1 worker for 1 hour gets Rs. f

13
4

[43]

15
S0 18 workers for 1 hour will get 18 x f = Rs=.

Now, these 18 workerswork for 4 hours per
day forl week=4x7 = 28 hours

135
18 workers for 28 hours will get 28 x TJ =Rs. 945

66.ANSWER: Rs. 693

Tip:
Ratio of Investment x Time = Ratio of Profit
= (A'sinvestment x Time) : (B's investment x Time) = Profit of A : Profit of B

~9100x 3:6825x 2 : 8190 x 5 = Jay's Profit: Veeru's Profit: Basanti's Profit
~Jay'sProfit: Veeru's Profit: Basanti’s Profit=27300:13650:40950
\ .~ ]ay'sProfit: Veeru's Profit: Basanti's Profit= 2:1:3

2 Veeru's profit = 14158 =Rs.693

2+1+3

67.ANSWER: Rs. 360

| 20% discount means 20% of 500 = Rs. 100 is first discount
416 % Number= 14560 x 13

Now price is 500-100 = Rs. 400
" 10% discount means 10% of 400 = Rs. 40
Now, Selling Price = 400-40= Rs. 360

68.ANSWER: Rs. 10500

Tip:
Ratio of Investment x Time = Ratio of Profit
& (A's investment x Time) : (B's investment x Time) = Profit of A : Profit of B

Shyam'sprofit = Rs. 600

<.Ram's profit = 2000-600 = Rs. 1400
Letinvestment of Ram be Rs. R and of Shyam be Rs.§
~Rx12:8x 12 =Ram's Profit: Shyam's Profit
~Rx12:5x12=1400: 600

JRiS=146

How to find investment share?

14 14
Ran'sinvahnenhmx Total investment = 5 ¥ 15000 = Rs. 10500

69.ANSWER: 49/5 days
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Work =build tank =1 74. ANSWER: 24

1
7 workersin 1 day will complete P amount of work

i . . )
In 5 days they'll complete 5 x L = — amount of work Approach1 — Direct Observation
s g P Onmultiplying by 1/3, the answer is 192 that is
Remainingwork =1-— = - awhole number.
50, the number must be divisible by 3.
Tip: In the opti 24 is divisible by 3
Men =M; Days=D; Time/Hours =T; Work=W " options only 241s by j
M1D1T1W2 = MaD:2TzWa Approach 2 — By solving
, . , , , Letthe number be ‘N’
Note that -W:is on left side and Wi is on right side
As per given condition,
N
Work 1 = build whole tank = 1 Nx§= 192
Work 2 = Remainingwork=% AMNI=192x3=4x48x3=4x16x3x3=21x42x32
~ 7workersx 12 daysx % =5Sworkersx?daysx1 +N=2x4x3=24
= ?=49/5 days 75.ANSWER: 15
70.ANSWER: 4 Letnumber of boysbe ‘m’ and number of girls be 'n’
Adozen pairs means 12 pairs. ~m+n= 50
Marked price for12 pairs = Rs, 8000 ~m=>50-n
10% discount, So, Final price = 8000 - 10% of 8000 =Rs. 7200 | Also, total oranges = 280
Priceof 1 pair = 7200/12 = Rs. 600 | ~om+7n=280
How many pair of trousers can be bought in Rs. 24007 L =5(50-n) +7n =280
Number of nairs of tro 2400 4o | 4 250-5n+ 7n =260
Hheratps Ten R | | = n=15=number of girls
71. ANSWER:32.25 % ) SCIENCE.76-100

72.ANSWER: 46 minutes

Man's/Boat’sSpeed = X
Stream/Current/Riverspeed = Y

#76.AnswerC T Both 1 & 2]
Theboiling waterreactor (BWR) uses
“demineralized water as a coolant and

= Downstream speed = X+Y neutron moderator.
onanmr 77.Answer: A [CAZRI]
SX=TY Central Arid Zone Research Institute
Speed == CAZRI at Jodhpur is involved in the
- Upstream speed =~ = 0.3km/min research on desert flora and fauna
Upstream speed = X-Y = 7Y-Y = 0.3 km/min 78.Answer: C [1 curie = 3.7 x 1010 Bq]
~Y = 0.05 km /min . .
Downstream speed = X+Y = (7Y4Y) = 8Y=8x 0.05 = 0.4 km /min 1 curie =1 Ci = 3.7 x 1010 decays per
Downstream time:Dsi;t::;e = 0.:?<;?$in second = 3.7 x 1010 Bq. This is
Downstroam time taken = -2 — 46 minutes approximately the amount of radioactivity
’ emitted by one gram (1 g) of radium-226.
73.ANSWER: 7 The ‘curie’ unit is named after Pierre
Letthe number be 'm’ Curie, a French physicist.
S0, as per given condition, 79.Answer: B [104.5°]
21m-12m =63 The bond angle between H20 molecule is
-~ O9m = 63 104.5°. It is defined as the angle between

~m = 7 = required number the orbitals containing bonding electron
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pairs around the central atom in a
molecule/complex ion.

80.Answer: C [Both a and b]

An inert electrode does not participate in
chemical reaction and acts as a source or
sink for electrons

Example of an inert electrode: Platinum or
gold electrode.

81.Answer: C [Fruits]

Fruits are fleshy substances that usually
surround the seeds. Flowers help in seed
dispersal.

82.Answer: C [Columnar epithelium]
Columnar epithelium tissue makes up the
lining of the stomach and intestine and it is
composed of tall and slender, column-
shaped.

83.Answer: C [Hindbrain]

There are three main parts of the.hindbrain
— pons, cerebellum, and.medulla
oblongata. The hindbrain is also called
rhombencephalons.

84.Answer: B [Hammer shaped]
Hammer-shaped is the shape of the'malleus
and aural bone marrow. In the middle ear
between the incus and the eardrum,
malleus are found.

85.Answer: B [Electro-Myogram (EMG)]
The record of the electrical activity of the
muscle is known as Electro-Myogram
(EMG).

86.Answer: A [pericardium]

A membrane, or sac, that surrounds your
heart is called the pericardium. It holds the
heart in place and helps it to function
properly.

87.Answer: A [Clostridium tetani]

Tetanus is an acute infectious disease
caused by the spores of Clostridium tetani
bacterium.

88.Answer: A [Sodium]

Sodium has higher atomic number (11)
than Fluorine (9). The atomic number of

Beryllium and Nitrogen are 4 and 7
respectively. Atomic number is the number
of protons in the nucleus of an atom, which
Is characteristic of a chemical element and
determines its place in the periodic table.
89.Answer: D [Its agueous solution turns
red litmus blue]

The main use of litmus is to test whether a
solution is acidic or basic. For instance,
ammonia gas, which is alkaline, colours
the red litmus paper blue because once
dissolved in water, it produces ammonium
hydroxide.

NH2 + H20 <=> NH40OH

90.Answer: C [Sulphur dioxide]

The most.comman sources of air pollution
Include particulates, ozone, nitrogen
dioxide, and sulfur dioxide. The largest
sources of SO2 emissions are from fossil
fuel eombustion-at power plants (73%) and

 other industrial facilities (20%). Smaller
ssources of SO2 emissions include

industrial processes such-as extracting
metal from oregand the burning of high
sulfur.eontaining fuels by locomotives,
large ships, and non-road equipment. It is
also linked with a number of adverse
effects on the respiratory system.
91.Answer: A [Lime water]

Limewater is the common name for a
diluted solution of calcium hydroxide,
Ca(OH)2. Calcium Carbonate is the
carbonic salt of calcium (CaCO3). Calcite,
aragonite and vaterite are pure calcium
carbonate minerals. Industrially important
source rocks which are predominantly
calcium carbonate include limestone,
chalk, marble and travertine.

92.Answer: C [Calcium oxide]

Calcium oxide (CaO) is commonly known
as quicklime. The raw material used for the
manufacture of quicklime is calcium
carbonate (CaCO3). Lime is manufactured
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by heating the calcium carbonate to a day (with a normal fluid intake of about 2
temperature of 1273K in a lime kiln. liters per day). The examples above are
CaCO3 (Lime stone) —> CaO (Lime) + common measurements for results of these
CO2 (Carbon dioxide) tests.

93.Answer: D [All of the above ] 98.Answer: C

Landfills, Incineration, Pyrolysis and Eye color is directly related to the amount
Gasification are methods of disposing of of melanin in the front layers of the iris.
solid waste which cannot be reused or People with brown eyes have a large
recycled. amount of melanin in the iris, while people
94.Answer: D with blue eyes have much less of this

In 1820, quinine was extracted from the pigment.

bark, isolated and named by Pierre Joseph 99.Answer: B

Pelletier and Joseph Caventou. Purified Oxytocin is involved in the milk ejection
quinine then replaced the bark as the or letdown reflex. The tactile stimulation
standard treatment for malaria.Quinine and of the nipple-areolar complex by suckling
other cinchona alkaloids including leads to afferent signals to the

quinidine, cinchonine and cinchonidine are hypothalamus that trigger release of

all effective against malaria. oxytocin.

95.Answer: B 100.Answer: A

Marasmus . Fertilization'usually takes place in a
Marasmus is undernourishment causing a * _fallopian tube that links an ovary to the
child's weight to be significantly low for | | ‘uterus. If the fertilized egg successfully
their age. travels down the fallopian‘tube and
Kwashiorkor is caused by a lack'ofprotein implants in the.utérus, an embryo starts

in the diet of a child. Pellagra is a vitamin growing:

deficiency disease most frequently caused 76 3cat: @ 2 3 2 a4

by a chronic lack of niacin or vitamin.B3 \ c f

in the diet. Rickets is softening-and ateir (GISSe3N) Th
weakening of bones in children, usually AMeferr AR 7gleT AT & §7
due to inadequate vitamin D. afasied g &7 393 Far 2
96.Answer: :C ©

The compound formed, 773 T[]
Carboxyhemoglobin does not allow RBCs SR H hald YSh 1T 3THeNT
to carry out their rgsplratory f_unctlon. T FI FEaT aaegtaat
Carboxyhemoglobin(COHD) is a stable . ) .

complex of carbon monoxide and 3R Shal & 3fgaene 7 MA &
hemoglobin that forms in red blood cells 783ca¥: @ [1 ?ﬂg‘r = 3.7 x1010
upon contact with carbon monoxide (CO). éﬁ'ﬂﬂ

Large quantities of CO hinder the ability of

Hb to deliver oxygen to the body. 1 Fg8 = 1Ci=3.7x1010 &% 9fd
97.Answer: B s = 3.7 x 1010 Bg| Ig 9T Th
The normal range for 24-hour urine N ~
volume is 800 to 2,000 milliliters per T (1 ;) -226 EaRT 3cHleld
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YsAafAar 1 A g1 gl swre @
ST T ifde faaeh R =gl
& SATH 9T IET 31347 g

79.3caX: Y [104.5°]

H20 319] & el §ereT hIoT 104.5° §
U UE AR AT H HA
TATY] & °RT 3N ST Seleelel Silg
arel 3ifdced & T & FoT & T H
g fFar T g1

80.3ccaX; & [T 3R & g

v AT gaads Tarfas
gfaferar & H1eT S1gT ofar § 3R
Solgcldl & AId 1 @ & T & s
LT &

U 3fohT gelacis I 3ere ol
clfesTq_ar des Solecisd
81.3caX: dT [%e]

Wl ATES Y1 gld & ol AR 9
STl T B I@d & T sl &
ghotT H TES gla B

82.3ca¥; Ul [EdHPR 3Ueholl]
TAHPR 3Thell S Ue 3R 3T o1
9Rd AT g 3R Ig oer 3R gdeT,
TN & 3R P §oIT 8T o
83.3ccX: @r [fEss]
WRIAETSH & cllel HET HET 8 ¢ -
died, ARdeH 3R Al ecler|
geIHRETSH I VFaThaled 3 Fgl
STl &

84.3ccR: o [gYlS & 3MhR ]
gale & R @ Afamg 3R ot
3T Aol 1 HHR &aT &1 &l &
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HET $9T H Soohd AR SIEH & daIT
Afoag arar ST g

85.3ccX: & [Selarel-ATIITH (SUHSH)]
At $r fega afafafr @
RIS goTrel-AREIEA (SUAS) & &
H ST ST B
86.3ca¥: U [ARHITETA]

T e, ar delt, S 3MIF T A
B & &, RIS IH Fgaal &1 Ig
feer & T S W T@aT g 3R S+
¥ F1H o H Acg Ll B
87.3ccX: T [FollEdI3Td 2ere]
CeotH FeNEAITSAR Tl Sfar] &
SISIO3iT & FROT glst arell T o
GshlHsE 19T g

\88.3cc: T [|If3A]
- WEAA FT A FAE (1) FohrdT

(9) & 3ifmgrar g1 sRfezs 3ik
SAISETTol/hT WA TEIT FHAM: 4
3 7 B SRATY] FEIT Teh AT &
slfdTeh H JIclel sl HEAT g, il Th
TaafAs dcg i fFdwar § 3k
3Tad groft & g@er e FuiRa
T g

89.3ccaX; D [3H®T STellT ©iel ollel
foeag &1 Arar & &ar ]

foleaq &1 AT 39T g wefor
T & foh s feraeT 3w & ar
&R | 3Te0T & foIu, 3rA=ar 3,
S T g1 &, ool foledd 9uX
el W1 &t & i U 9 g A
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Heolel W Ig IHANAIA grsglerarss a1 | &1 QAT I & g A HfeeraA
;—{@rg| Frefele S 1273K & dM9HT TR I
NH2 + H20 <=> NH40H e fhaT ST &

90.3ccR; &Y [Tow STE3TFarss] CaCO3 (eI YeR) -> CaO (FAT) +
g FQNOT & FE 3 HIdAT H FHOL CO2 (TS STF3TFATSS)

ST, AGLISTT STS3HTFAISS 3N 93.3ceR: 3 [3udFa Hel]

Hewl STs3iaarss A §1 SO2 Asfper, srefiaoT, RT3
3cHoled 1 Gad 8T did fostell @a= IreoT 3 Fa & fAue & ale
(73%) 3R 3= sitefaen ot & T e YT AT ST A
(20%) TR SHETeH ST 6ol & g1 SO2 fFar ST Fhar &

3c8o & B dat 7 JiedifE 94. 3ccR : A

gfhaTe AfdAe & o Th 30 & 1820 #, #elel I BIel ¥ fAHreT a1,
oTq foApTere, IR ST, 95 STeo MR | sremr ey a0 3% Ry Shw
IRz TR @RI 3T Tohl Jelfea 3R STH®% shdel GanT «AfAd
el SU I STellell|_F@ eaHel . fordl 3RIT| 9[& Foiel of HRAT & fow
SOTTEll g st Teial B ST o o & w9 # o Y aed
gam ¥ R o 3R 3 e

91. 3ec: W [T dTail] ohollgs_Fied [FdieissH,
TSHATET HicATH gesiFdrss, @v eterreTee 3N fAesieeT qal
(3T@) 2 & gde Hie F HA HARET & BT Faer & |

ST g1 hieRITH Flafic_HhieIdH ol 95. 3cc¥ : &Y

Freffeleh THH (CaCO3) g shewTse, ATFT &Y Ty

sifarse 3R dT Y HiewwH FRIEAE eTor § v Fmor
Frefie @iaer g1 iieaf@s s 4 I FT doled 37T 3H & folT ST
HecdqOl A Ig= St {ET &9 4 S g ST &

HTeRIH FElC §, IAH el To2W, FARINFR g & HER & e
Teh, FIFRAR 3R Eadier enfder &1 T FA F FROT BT T YT TH
92.3ccR; Y [hiorId 3idss] eIfdeT &7 Far & g arelr SAN &
HTeIH 3TFATES (Ca0) Y AN I IER F e T

T G EIHT GaAT T S g1 o ReTffie d13 i Qe F#r F FRor
9 T & AT & fIv g s A ¥ Rvew sedt & gsfRal &
AT FHforId Fralae (CaCO3) &1 Tt
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A 3R FASIR FT T g, AHAR |
3ged fqerfAd & & HRoT|
96.3ccX : &Y

S A, Fefediemeafes
HREE T 3T a8 A T I G
el I AT e Sl B
Carboxyhemoglobin (COHb) &TsisT
AIATFASS IR EIATelITeeT &l Th
R oREx § S Fed AARTEEEs
(CO) & HUh & 3 W ool &
RITAPIIT H Focr g1 dI3T ST F3r
HAET RR &l TS gl & folw
TeT FI &THAT H ST STeldT gl
97.3c} @ &

24 ¢ & AT H AEFS @0 HHAT

drar gfa f&sT 800 & 2,000 fAclelieT

g (ITa TeT Sem1eT 2 ey &, i
&d Tdel.& IrY)| 3ol GETON
oAl & foe 9 G v 3erexor
AT A9 &

98. Ica¥: &Y

3@ &7 W1 A aRarRenr &1 areeT
I Wdr H Aelfader Fr AT F Fafeaq
grar ¥ ot 3@t arer @l
gRaRe&T & a37 AT & AdfadeT ghar
&, Siafer Aol 3@l arer oo 7 Tg
qoih Sg A BT ¢

99. e of
AT e olarleT AT dIcaT3el
Rerelerd & anfAe g1 g8 & fAcder-
TRATER Plecoldd T T Sccdotell
gAY HT o ATHATEr Fohal dI 3R

of Sy § S 3T 1 Res &r
feaR &l B

100. 3cR: T

fodTer AR W e <ge A
grar & S 3SRy & ey ¥ Sgar
gl Ife A 37eT awheldrgdeh
helfoeT cge @ i Fell STl &
3R IR A gIRIfAT g ST g ar
HOT 1 fahrd YE 81 AT &l

COMPUTER 101-125

101.Answer: A

Tim Berners-Lee, a British scientist,
invented the World Wide Web (WWW)
in 1989, while working at CERN.
102.Answer: D

Repeats last action performed while typing
~in Microsoft Word.

103.Answer: A

Graphical User Interface

104.Answer: A

Christopher Latham:Sholes (February 14,
1819 — February 17, 1890) was an
American inventor who invented the
QWERTY keyboard, and, along with
Samuel W. Soule, Carlos Glidden and John
Pratt, has been contended to be one of the
inventors of the first typewriter in the
United States.

105.Answer: B

Babbage is credited with inventing the first
mechanical computer, the Difference
Engine, that eventually led to more
complex electronic designs, though all the
essential ideas of modern computers are to
be found in Babbage's Analytical Engine,
programmed using a principle openly
borrowed from the Jacquard loom.
106.Answer: D
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(Acronym pixel.) The smallest element
(spectral or spatial) sensed by a satellite
sensor. A pixel generally appears as a
rectangle with a uniform shade or colour.
107.Answer: D

All of the above

108.Answer: C

WYSIWYG (pronounced wiz-ee-wig) is a
type of editing software that allows users
to see and edit content in a form that
appears as it would when displayed on an
interface, webpage, slide presentation or
printed document. WYSIWYG is an
acronym for "what you see is what you
get."

109.Answer: D

The web browser included in Windows 10
Is Microsoft Edge.

Microsoft Edge has replaced Internet
Explorer 11 which used.te'be the default™
browser in the older Windowswversions.
110.Answer: B

Plurix

111.Answer: C

Human beings are referred to as Homo
sapiens. Computer is called Silicon
sapiens. Computer's ICs are made of Silica
so that can be one of the reasons for calling
computer Silico sapiens.

112.Answer: A

A bug is an unexpected problem with
software or hardware. Typical problems are
often the result of external interference
with the program's performance that was
not anticipated by the developer. Minor
bugs can cause small problems like frozen
screens or unexplained error messages that
do not significantly affect usage.
113.Answer: B

Microprocessor

-

He designed that architecture and so
invented the first microprocessor, the chip
that is essentially the "brains™ in all of
today's computers. Hoff was was born
October 28, 1937 in Rochester, New York.
114.Answer: C

Pif

115.Answer: C

Recovery console command

116.Answer: A

NTFS, which stands for NT file

system and the New Technology File
System, is the file system that the
Windows NT operating system (OS) uses
for storing and retrieving files on hard disk
drives (HDDs) and solid-state drives
(SSDs).

117.Answer: B

The Idea behind the disk defragmenter is to
mave all the*files'around so that every file

. is stored on sequential sectors on
~ssequential rings of the disk.

118.Answer: A

The abbreviation®ETP means "File Transfer
Protocel™ (in‘computing), "'Free To Play"
(in gaming), and “Functional Threshold
Power" (ineycling). It:also means "F*ck
The Police" and"F*ck The Pope" Here's
more information about each of these
definitions of FTP.

119.Answer: Able to infer the flow of
control from the program text
120.Answer: C [Holographic Versatile
Disc]

HVD stands for Holographic Versatile
Disc. It has been development by The
Holography System Development (HSD)
Forum using a green writing/reading laser
and a red positioning/addressing laser.
121.Answer: A [Switched-Mode Power
Supply]

A switched-mode power supply (SMPS) is
an electronic circuit that converts power
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using switching devices. They are used in
many places in a computer.

122.Answer: D [All of the above]

A laptop is similar to any desktop but is
portable with all the hardware and other
peripherals built into a single unit. They
have a clamshell design.

123.Answer: A [Spyware]

Spyware is an unwanted software that
infiltrates the computing device, stealing
internet usage data and sensitive
information and sending it to someone
across internet.

124.Answer: C [PHP]

PHP stands for Hypertext Preprocessor. It
IS a programming language primarily
designed for web development to create
dynamic web pages.

125.Answer: D [.xls]

XLS file extension icon.s‘the default MS

Excel file extension. XLS is afile
extension for a spreadsheet file format
created by Microsoft for use with
Microsoft Excel.

101. 5w @

fafesr Smfaes fom sig-<ft 3 CERN &
=M Fd 3¢ 1989 7 < amead
(WWW) =1 srifersehrt foram ol
1025w €

Microsoft Word # 2r=q st g8 it
s 3ifaw foram At SretEr 2

103/ ©
ITithehel ISR $2THe

104. 3w T
foReert oo wmiew (14 v, 18109 -
17 watt, 1890) e sufeht stfashies

g, et QWERTY Hiag a1 i
foparm o, ST YT Socy Hidd, hiciid

fiTeT 3§19 3¢ & 91y, dhieiE &
ATl | © Ueh B T 1T fohaT 7T 2
HIh TSI FHIHT H I8 25U
105. 3t ; &t

SIsIST ol U8t Hehiishel heeX, fewhi $o
T STfSh S AT 27 T i &, o
3qa: AT e gt fesmgar &t
St fearm, wreifen SATYfeh Shogedl o gt
I foaIR SesT o TN ureHsh 359 §
¢ ST &, R Sare | € Tel d W
3YR fore U fagia 1 U= stk S
ERIKIEIR

106 3T €

(Sitet <188 fUerEl) H € DT dea
(SishE = AT TLATH ) Teh IUUE Holgah g

| TEdE ferT | Uk Ut ST AR W U
CHA ST AT O o 919 A R ® § fowTs

& B

107 zwust
S o gt

10837t =t

WYSIWYG (s=amwr fas-3-fam) @
YehT T HUTE HTFEATT B ST STATTha el
! g} Bl Uk UW &9 § 2@ I durfeq
T shi ITAALT T & ST Toh SETHA, U,
TS Nl AT i EdTes W Wi g
X e 2ar 3 WYSIWYG "'sit ammg
<@d & I8t 9! fierar 2" & fow wh
wfery w1eg 2

109. st &t

foers 10 ¥ wnfiet 3« SIS ATgshidTee U
H
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Microsoft Edge = Internet
Explorer 11 =t s feam & St e

Windows s&rt 4 fewiee siesr g3t
EXGIRII

110. 3w &t

ESliEi)

111. 39 =t

TSI I T AR el ST 2l SR bl
fofeteni |U==0 et ST 2| =X
et faferent & o 81 &, 39T I8 et
1 faferent Gfta=a e &1 T HROT =
T 2

112. 3@ ©

HTFEAIT T TSI o 9T Uk ST Teh
rufara we ) fafire arem SR
HTHT o T3 o Hil STed! SEqaid ol

offl I ST Sl EHEIE Te7 L T ©
SE STHT g3 EhI T STEBlehd AAfe HexT Sl
SUANT hT HECAYul &9 H T TeT L 3
113. s &

RIEEAVIELT

3 39 el CIRESIFGRER RIS

THRTT et ATSSHIYIGTR 1 STIIShR TR,

g o St 31Tt o wft et | sTfe w1
¥ "feumr"” 21 T # S 28 FFT,
1937 =t Trereet, =ik § 5311 1|

114. 3Tt €t

U

115. s =t

eradt STt i

116. 3@ ©
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THEUHTH, ST T wiged foreen A =
AT BIEe oed & T @et R, 9%
wIEd ey g St fde Tt ifufen foeen
(37ruw) =rE fewh g (Taete) 3k
gifcTe-wee ged (TauEs!) W BIEal i WK
F 3R G e % fTT ST S 2

117. 39T ; &t
fereh Spmet & N o1 fomm avft wrgar

T U-3LT A ST g dlieh Tcdsh HIgdd
fe%ah o 3TTehiteh TOTT U8 STehih &l
HIRId Bl

118. sw.T

e 7| FTP &1 212 @ "'wise giaw
qeehiel (e ®), " e (AT
7), i "R geiice gal (sfohe

| et o)1 gEh 31 "Frck The
~ Police" =it "F*ck The-Pope" +i 2

ei FTP sl @ Sedieh qiemo o o o
SRS SIS 2

119.59% ium TR & f[HE=0r o Jare 1
A T H e

120. 3t € [Erctithe adersd fowh]
HVD ,grctinthe stierse fem & fag
T 2| S9! forehre Bietiuhl freen
e (HSD) wrw g i wsfen/afem
TS 3T Tk T WS/ ug R st st
ST ek foRaT T R

121. . € [Ra=e-HAIe TR aTs |

T Raee-1ie I g (Teugdiey) T
SIS [+ Tiche & ST Tt SUSHUT
STINT Lok fersteft st afiafda s 81 37
SYANT L H g SR foRam STl 2
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122 3¢ & [dqi\lrh H‘lﬁ] 127.ANSWER: Charlie and Abby
Tk 9T foret off SEReTT & Tq BT § 128.ANSWER: Abby and B-dawg
AfohT Teh 3ohTs 1 HTHa af) BTEar 3 129.ANSWER: Abby and Fantom
I e YT oh GT TIead ’6\|('|| %| 3-¢h 130.ANSWER: Explosion
T Ueh AR (SS11 2l All others are natural calamities except
. N explosion.

1235w T [‘“‘ff"'“{l . , 131.ANSWER: Locust
TTERR Uoh 3difed Hi%eal 8 Si ‘_?"_‘?J,l%’f Locust is an insect, while all other are
fearse # s@ts e 2, detie ST a1 ;%F;“ES\BWER Sl Bat

A . . : Ball - Ba
?ﬁr G Rier STeRRT =TT et & S 56 In all the other pairs, the first is used to
3T I fopet =t ISTaT 2 hold the second.
124. 3¢ o [‘ﬁﬁ?ﬂﬁ] 133.ANSWER: Coke — Shoe polish

In all others, first is a necessary constituent

PHP =1 Aacie geweae S 3l I of the second.
Teh T e § o e w9 9 niiaefier Option D is the odd pair.

1 1 T ¥ o A Sz ¥ R 134 ANSWER: 32987
fesmes fomm T 2 | [Leter (A lB [T M NP [ER
125. zwt: < [ xls] W lilcode 2 [1 3]s |6 |98 |7
XLS wEa gaene siswAfewe MS T,
Excel wea uaeéem &l X LS | |Letter T |A P |[E R
Microsoft smr Microsoft Excel = Code 3 |2 8 |7
9 AT R S S s hieet 135 ANSWER: 41
NS & Trs‘\‘ 3 #I" Inthe givencode, A=1,B=2,C=3and
EIRY b TcTC Ueh Whigel THHRM Tl so on till Z =26.
So, MANIAC=13+1+14+9+1+3=
REASONING 126-150 41
136.ANSWER: B
126.ANSWER: Dalton, B-dawg, Fantom
Eddie is not at the end, so, Eddie must be 137.ANSWER: A
in the middle of one of the rows. _ 138. ANSWER: (d)
Dalton is second to the left of Fantom i.e. Ethnology - Study of human races,
Dalton, __, Fantom _ _ Astrology - Future, Semantics — Language
Charlie is the neighbour of Eddie and is
standing diagonally opposite to Dalton. 139.ANSWER: 3
B-dawg is the neighbour of Fantom. The element is moving from corner to
So, the arrangement is — corner in a clockwise order. The answer
] figure should be figure 3
Dalton B-dawg Fantom 140.ANSWER: E-P
Abby Eddie Charlie N is the wife of M.
Here, Dalton, B-dawg and Fantom are in So, one couple is M-N. Now, F is the
the same row. grandmother of L. M is the son of F and

his wife N is the mother of Q.
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So, F is also grandmother of Q. But Q is
the granddaughter of P.

So, P is the grandfather of Q and the
husband of F.

Thus F-P is another couple.

—f

F |
P
. M 1 ’N
[+ I
: @
141. ANSWER: None of these

142. ANSWER: Cannot be determined

143.ANSWER: Mother

N is the wife of M and F is the mother of
M.

Also, F is the grandmother of L.

So, N is the mother of L.

144 ANSWER: North

The sun rises in the East. Hence, any
shadow falls in the West.

Ali's shadow was to the left of Manish.

Hence, Manish was facing towards North.

In this series, one letter from the beginning
and one letter from the end are removed to
obtain the next term.

This pattern is repeated here.

So, the next term should be ONETIZAT —
NETIZA

147. ANSWER: 80

The pattern in the given series is -

147 13° 12° 117 10° 9?

The wrong number is 80.

It should be replaced by 9 = 81
148.ANSWER: 56

The sequence here is +4 +6 +8 +10 + 12

The wrong term is 56

The next term should be 41 + 14 =55
149. ANSWER: 5 pm

Time from 5 am On a day to 3 pm on 8th
day = 178 hours

Now 23 hrs 44 min. of this clock = 24
hours of clock

: . 365/15 hrs of this clock = 24 hours of
".\clock
“7178 hrs of this clock = (24 x 15/356 x 89)

hrs of clock

_ =180 hrs of clock.

So, the time is 5 pm.

150.ANSWER: 22

The hands of a clock coincide 11 times in
every 12 hours (Since between 11 and 1,
they coincide only once, i.e., at 12 o'clock).

A12.|1. |2. |3. |4. |5. |6. |7. (8. |9. |10.
M |00 |05/11|16/22|27|33|38|44 (49|55

P |12.]1. |2. (3. |4. |5. |6. |7. 8. |9. |10.
M |00 [05(11/16|22|27|33|38|44 /49|55

Manish
S
1 Ali's
shadow E W
4
N
Ali
145.ANSWER: East
Karan Manoj
\ / N
Lalit NW, | NE
w E

146.ANSWER: NETIZA

The hands overlap about every 65 minutes,
not every 60 minutes.

Therefore, The hands coincide 22 times in
a day.

126 .3 Sreed, st-gmr, e
wEl 3iq H 72 7, Aot Ut i U ufth &
e o g =R
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gTeed e o o1 ¥ EL T W e I
gleed, ﬁ;—acr

ITeAT, T BT TSI B 3TN STeed & [
foafia @er 21

S-S Shew 1 TS 2

e § -

Fantom
Charlie

Dalton B-dawg
Abby Eddie
STee S-S %ed
TSl Tl et

IET Sleed, sI-SnT 31 el Uk & ufh o 2
127 33 =t 31 usft

128.3; walt SR sft-gr

129 .3 Tt 3R Hen

130. 3w : fowmie

H
131. 3Tu . fegeh

fredi t= e R, aa%mmﬂaﬂw%l
132. 3@ : Tig — S

31 gefl STfeAt d, Teet ST gal i
Tehed & foru fema st 2

133. 3T : hish — 3] GiferT

3= Tt H, e GO hT ATIH T B
fored D oo 3w 2

134. sat; 32987

Letter |A |B |T |[M [N |P |E |R
Code 2 |1 |3 14 |6 (9 (8|7
Letter TI|A|P E |R
Code 3

N
oo
\‘

135. 3w 41

fiemaes, A=1,B=2,C=3
3R g6l a® Z = 26 T=

safeg, e = 13 +1+14+9+1
+3=41

136.3w sft

137.3@ . T

138. 3wt (&)

TR - HHE ST ht 3T, SAMIY
- offorsy, SreaTel - W

139. s 3

dcdl GIETUTTed ShH H U shid | EL i
B T 813 o o3 & =y
140. T w11

N, M i et 2

| e M-N 21 s, F, L ardt 2

%@ﬁzﬁfﬁwmmﬁuﬁ%w ) f)|\/|,“'|:'wg—>r%3ﬁzwqa% N, Q #r =f

3

o, F, Qafrardy «it 81 3k QP #r
qret 2l

ar, P, Q@diewet & #R F & ufd =
39 YR F-P o sfogm 2

+ l"

141 39T, T8 9 I8 7
142. 39t fatfa Tt fomam ST gehan
143. 3T A1
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General knowledge 151-175

151.Answer: C

Garampani sanctuary is located at Diphu,
Assam. It is one of the oldest sanctuaries
containing hot water spring and waterfalls
and surrounded by Nambor Sanctuary
having 51 rare species of orchid.
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152.Answer: C

Grand Central Terminal, Park Avenue,
New York is the world's largest railway
station. GCT is the largest train station in
the world in terms of area occupied and
number of platforms. The terminal is
spread over 49 acres and has 44 platforms.
153.Answer:B

The common terms used in shooting are
bed, ballsege, marksmanship, plug.
154.Answer: C

The buoyancy depends on the mass of the
liquid displaced. According to Archimedes
principle, the buoyant force of a partially
immersed body is equal to the weight of
the displaced liquid.

Therefore the buoyant force depends upon
the density of the fluid and the submerged
volume of the body.

155.Answer: A

The first chairman of the Afriea fund
committee was Late Rajiv Gandhi.
156.Answer: D

‘The Godfather' is a crime novel'by
American author Mario Puzo.

157.Dr M Srinivas

Dr M Srinivas, the newly-appointed
director of the All India Institute of
Medical Science, (AlIIMS) Delhi, has-an
experience of more than three decades in
various positions in the academic,
administrative, and research fields.
158.Falguni Nayar

Nykaa's Falguni Nayar becomes richest
self-made Indian woman in 2022, sees
wealth grow by 345% Nayar surpassed
'biotech queen' Kiran Mazumdar-Shaw
whose net worth is Rs 24,800 cr.
159.ChhelloShow

RRR's Naatu Naatu, Last Film Show,
among others shortlisted for the 95th
Academy Awards.

160.DevgiriFort

"In the earlier days, the fort used to be
known as Deogiri Killa, but people started
referring to it as Daulatabad Fort. But we
have now decided to name it as Deogiri
Killa," Tourism Minister Mangal Prabhat
Lodha said on the occasion of Marathwada
Mukti Sangram Din.

161.Rajasthan

BSF's first female camel riding squad is
ready to be deployed along the India-
Pakistan border in Rajasthan and Guijarat.
The squad will participate for the first time
in the BSF Raising Day Parade on 1ST
December. This Squad will be the first of
its kind in the world.

162.Adani Group

Adani group becomes the second largest
cement maker in the country after
completing its acquisition of Ambuja
Cements and ACC

- 163.Chinook
~For the first time in Indian Air Force (IAF)

history, two women combat pilots will

fly Chinook helicopters. The multi-mission
helicopter, made by Boeing hasplayed a
crucial role in supporting the army's
deployments near the Line of Actual
Control (LAC).

164.Pranav Anand

Bengaluru teenager Pranav Anand became
India's 76th Grandmaster after he crossed
the 2,500 Elo mark in the ongoing World
Youth Chess Championship in Mamaia,
Romania. The 15-year-old, having already
met the other requirements that are
necessary for a GM title,

165.SibiGeorge

Sibi George is an Indian civil servant of
the Indian Foreign Service cadre who is
Ambassador Designate of India to Japan.
He has previously served as Ambassador
of India to Kuwait, Switzerland, the Holy
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See (Vatican City) as well as the
Principality of Liechtenstein.
166.Answer : A
The longest Rajdhani route is
from Trivandrum Central in Kerala to
Hazrat Nizamuddin in South Delhi (3,149
km/ about 46 hours).
167.Answer : D
Avrticle 17. Abolition of Untouchability. -
"Untouchability” is abolished and its
practice in any form is forbidden. The
enforcement of any disability arising out of
"Untouchability" shall be an offence
punishable in accordance with law.
168.Answer : D
either house of parliament
169.Answer : A
Bhoja (reigned c. 1010 - 1055 CE) was an
Indian king from the Paramara dynasty.
170.Answer: D
Francis Sellers.Collins is an American
physiciangeneticist noted for his
discoveries of disease genes and his
leadership of the Human Genome Project.
Sergey Mikhaylovich Brin is an American
computer scientist and internet
entrepreneur who together with Larry.Page
co-founded Google one of theworlds most
profitable Internet companies. Jimmy:
Donal Jimbo Wales is an American Internet
entrepreneur best known as the co-founder
and promoter of the online non-profit
encyclopedia Wikipedia
171. Lionel Messi
Indian education technology company
Byju's has appointed Lionel Messi as a
global brand ambassador for its social
impact arm Education For All. Byju's said
the tie-up will see the seven-time Ballon
d'Or winner serve as a mentor to “hundreds
of millions of young people around the
world”.

172.0 Yeong-su
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SEQOUL, Jan 10 (Reuters) - South Korean
actor O Yeong-su won the country's first
Golden Globe award on Sunday for his
role in Netflix hit "Squid Game", drawing
cheers at home and abroad despite
criticism for the ceremony's organisers
over a lack of diversity.

173.87th

The UAE has got the first position in the
rating of passports for 2022, while India
was ranked 87 in the list of the strongest
passports in the world. After the UAE,
European nations dominated the list's top
ten positions. While UAE topped the list,
Germany, Sweden, Finland, Luxembourg,
Spain, and France were next.

174.Robert Lewandowski

Alexia Putellas and Robert
Lewandowski.crowned The Best

The Best FIFA Football Awards™ 2021

. ceremony, held as a virtual TV show from
~“the Home of FIFA in Zurich, crowned two

household names, Alexia-Putellas and
Robert Lewandewski, as the outstanding
players:

175. Answer : A

Sania Mirza
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GENERAL MANAGEMENT

176.Answer :
gREgRT
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178.Answer :

T AT BN fqaRor

U oY 3R &I faaror v fa<ig faaxor
g o T fafdse eafd, madk =R U
a1 faxig a9 & forw dush g1 fhu
MU XTSI, NI 3R T BT FRIST <l
2| U TS Bl NoiRd 9T, T 6H
HR, T ST A TSI~ BRI DI &THdT
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179.Answer :
fJaRor

SIS doi Udh ¥Cehc © ol Joid T
goil @rd &1 uRarg feu faqr safhra @,
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AT DI RJATYAT
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HATSATHS HaH H, AT USTIHA H Uh
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AT foedl =fh & agR & FEiRd
FAT 8| 9 Toxd & TRIRG FToxd, GRel
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188.Answer
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191.Answer :
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T TR Yaer

196.Answer :

dler g
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197.Answer:

g SOy (g Srferaif3ra)
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el 3R uR=ATeTHS

gl W 9d1 PR b BRI &I BT T,
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T a8 gRRad oxar © & el @ik
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199.Answer :

Wl Uhel ufafte ygfa

g forad sy ReplS 9T ¥ Sfrd € 1 39
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200.Answer :
HTed & [Aa & foly Hea@yel e
P JHR IR WX Bl [uiRT 7|

ST Woll, T4, Uee €Es, gerast SiiR
Do A 8| g7 T TfdfAfei o Tb
SR @ A1 ¥Rad fhar S =Ry |

176.In financial accounting, an asset is an
economic resource. Anything tangible or

"_,_‘intangible that can be owned or controlled
- to produce value and that has‘positive

economic value is.eonsidered an asset.

177-Robert Katz identifies three types of
skills that are essential for a successful
management process: Technical

skills. Conceptual skills. Human or
interpersonal management skills.

178.A profit and loss (P&L) statement is a
financial statement that summarizes the
revenues, costs and expenses incurred by a
company for a specified period, usually a
guarter or fiscal year. An organization's
ability to increase revenue, reduce costs, or
generate profit from both can be derived
from these records.

179.Trial Balance is a statement which
accounts all the balances of the Personal
account, Real account and Nominal
account regardless of either Revenue or
Capital A/c. It comprises of 2 columns viz.,
debit and credit.
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180.If you are a manager or leader, you
are very likely to have followers whom we
commonly refer to as 'subordinates. ' In an
organizational context, subordination refers
to a lower position in the hierarchy. A
leader is placed at a higher rank and
subordinates are at a lower rank.

181.The level of management at which the
managers are responsible for implementing
and controlling the plans and strategies of
the organization is Middle level manager.
The top level managers are responsible to
formulate plans and policies to achieve the
set of organizational objectives.

182.Human Resource Auditor does a
complete Human Resources Check-up and
verification of employee records & files,
compliance of HR procedures and policies
with employment laws, employee
handbook, orientation; training of
employees, performance management,
employee compensation and payroll'and
employee termination

183.A concept called dynamic
capabilities suggest that an organization's
ability to renew and recreate its strategic
capabilities to meet needs of changing
environments in order to.be effective over
time.

184.Maslow's hierarchy of needsis a
theory of motivation which states that five
categories of human needs dictate an
individual's behavior. Those needs are
physiological needs, safety needs, love and
belonging needs, esteem needs, and self-
actualization needs.

185.Physiological needs: The first of the
id-driven lower needs on Maslow's
hierarchy are physiological needs. These
most basic human survival needs include
food and water, sufficient rest, clothing and
shelter, overall health, and reproduction.

186. Cheques are also called negotiable
instruments. In banking terms, a negotiable
instrument is a document that promises its
bearer a payment of the specified amount
either on furnishing the document to the
banker or by a given date.

187.Common examples of consumer

durable goods are automobiles, furniture,
household appliances, and mobile homes.

188.Borrowed from Latin auditus, from
audio (“I hear”).

189.E-commerce (electronic commerce)

IS the buying and selling of goods and
services, or the transmitting of funds or
data, over an electronic network, primarily
the internet. These business transactions
occur either as business-to-business (B2B),
business-to-consumer (B2C), consumer-to-
cansumer-or consumer-to-business.

190.Business Analytics and Information

\ Technology (BAIT) is Rutgers Business
- School's quantitative and.cemputing major.

191.1n a rankingspérformance evaluation
Systemgthe manager ranks each.employee
from most valuable:to least valuable. This
can create morale issues within the
workplace.

192.Directing is said to be a process in
which the managers instruct, guide, and
oversee the performance of the workers to
achieve predetermined goals.

193.Bank reconciliation statement is
generally prepared by the customer of the
bank or the bookkeeper of a company with
the purpose to compare the bank's records
with the company's records.

194 .Effective modeling involves 4
components to mix/match depending on
students and their experience: a clear
GOAL, a positive DEMONSTRATION, a
chance to PRACTICE, and the opportunity
to REFLECT.
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195.0bjective based management

196.The term “management by objectives
(MBO)” was first used by Peter

F. Drucker in his 1954 book titled The
Practice of Management.

197 .re-engineering (re-engineering)
198.By stating in advance how work is to
be done, planning provides direction for
action. Planning ensures that goals and
objectives are clearly defined so that, they
act as a guide for deciding what action
should be taken and in which direction.

199. Single entry system is a system of

book keeping in which incomplete records

are maintained. Under this system, records

of only cash and personal accounts are
maintained.

200.These include recruitment, selection,
performance management; compensation' ;

and benefits, organization and.function,
design, and more. All these activities S,
should be aligned:with each other.




